
   

 

VFR800i HUGGER 

 
Fitting kit: 

 

1 x Bracket 

2 x M6 x 12mm button allen bolt 

2 x M5 x 16mm allen  bolts 

2 x Nylon washer 

2 x M6 s/steel washer 

2 x 370mm cable tie 

 

Fitting instructions: 

 

N.B. 

At Pyramid we pride ourselves on the quality of our hugger fitting kits and usually avoid the 

use of cable ties. In this instance we felt the use of a cable tie, with the hugger moulding 

specifically designed to make mounting as secure and neat as possible, was preferable to 

using a large steel bracket. 

 

Remove the two screws that retain the hose clips on top of the chain guard. Position the 

bracket on top of the clips and secure with the M5 bolts supplied, using loctite. 

 

Pass the cable tie through from the front of the lower extension, up and back down through 

the hole in the “nose”. Leave approx 50mm of the cable tie protruding through the lower 

hole. 

 

Position the hugger and secure to the bracket using the M6 bolts, but do not fully tighten at 

this stage. 

Pass the end of the cable tie down through the swing arm and out to the left and attach the 

other end. Ensure that the cable tie does not pass through the spring. 

 

Check the hugger alignment and tighten the cable tie. 

Finally remove and refit the M6 bolts using the s/steel and nylon washers and loctite or a 

similar thread retaining compound. 

 

Please note: check hugger alignment and fasteners periodically. 

 

 

 

 

 


